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All questions to be answered. Fill the appropriate circle in the OMR Sheet.

. ‘Red Data Book’ is produced by
(B) WWF

(A) TUCN
(D) None of these.

(C) IBWL

. Which one is the example of gene bank?

(A) Ex-situ Conservation (B) In-situ Conservation

(C) Inspot Conservation (D) Sanctuary.

. Which one is hotspot of biodiversity?

(A) Eastern Ghats (B) Western Ghats

(C) Aravalli Hills (D) Indogangetic Plain.

. Identify the correct match pair :

(A) Montreal Protocol - Global Warming

(B) Kyoto Protocol — Climate Change
(C) Ramsar Convention — Ground Water Pollution

(D) Basel Convention — Biodiversity Conservation.
. The word ‘Ecosystem’ was coined by
(B) Tansley

(A) Elton
(D) Billing.

(C) Odum

. The correct sequence of food chain is
(A) Grass - Wolf - Deer - Buffalo
(C) Grass - Insect - Bird - Snake

(B) Bacteria - Grass - Rabbit - Wolf
(D) Grass - Snake - Insect - Deer.
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Y Coal (B) Sail
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Uhe st National Park established i India 1s

¢\ Kasiranga Natonal Park (B) Jim Corbett National Park
(Y Gir National Park (D) Hazaribagh National Park.

Which of the tollowing pairs is not correetly matched?

G Tropecal Zone - Hot summer, Short winter

(BY Sub-tropical Zone - Hot summer, Cool winter

() Temperate Zone - Warm summer, Pronounced winter

(DY Alpine Zone  Long summer, Short severe winter.

Which among the tollowing is not a hot desert?
(A) Sahara (B) Kalahari

() Thar (D) Gobi.

Hearing ability of human is monitored by

(A) Audiometric test (B) Potentiometric test
(C) Volumetric test (D) None of these,
Which of the following is the in situ biodiversity conservation site?

(A) Arboretum (B) Biosphere Reserve

(C) Botanical Garden (D) Orchidarium,

Qzone Day is celebrated on
3 .
(A) llthJuly (B) 22nd Apnil

September.
(C) 12th May (D) 16th September
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The source of fly ash is —

(A) Agricultural field (B) Hydel power project

(C) Thermal power project (D) None of these.

Natural heat from Earth's interior can be used as energy source known as

(A) Hydrothermal energy (B) Geothermal energy

(C) Wind energy (D) Tidal energy.

The leading body for the assessment of climate change
(B) CPCB

(D) IUCN.

(A) IPCC
(C) MOoEFCC

Grey water 18
(A) Polluted water (B) Unpolluted water

(C) Rain water (D) Potable water.

Biodiesel is related to which plant?
(A) Jatropha (B) Coconut

(C) Banyan (D) Mustard.

The importance of ecosystem lies in
(A) Transfer of food (B) Flow of energy
(C) Cycling of materials (D) Both (B) and (C).

Vermicomposting is a method that involves —

(A) Tapeworm (B) Silkworm
(C) Earthworm (D) None of these.

In the year 1986 on¢ of the following disaster took place —

(A) Bhopal Gas Disaster (B) Chernobyl Disaster
(C) Fukushima Disaster (D) Nepal Earthquake.

Which of the following pair is incorrect?
(A) Kerala — Silent valley (B) Madhya Pradesh — Kanha
(C) Manipur — Loktak (D) Andhra Pradesh - Cauveri River.
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Biodiversity Act was enacted in the year
(A) 1972 (B) 1974
(C) 1986 (D) 2002.

Carbon footprint refers to the

(A) equivalent footprint of total human being living on the earth

(B) Carbon dioxide emission from industrial sector only

(C) Greenhouse gases released by direct and indirect activities of an individual, eve
(D) All of the above.
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